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Problem quickname: 1213

1)
Quick:
1213

Write as a fraction with a fraction bar.

a) 0.22 = 11
50 b) 0.58 = 29

50 c) 0.78 = 39
50

2)
Quick:
1213

Write as a fraction with a fraction bar.

a) 4 = 4
1 b) 1 = 1

1 c) 3 = 3
1 d) 6 = 6

1 e) 5 = 5
1

f) 0.3 = 3
10 g) 0.7 = 7

10 h) 0.6 = 3
5 i) 0.2 = 1

5

j) 2 = 2
1

3)
Quick:
1213

Write as a fraction with a fraction bar.

a) 52 = 52
1 b) 39 = 39

1 c) 6.5 = 13
2 = 61

2 d) 0.59 = 59
100

e) 0.46 = 23
50 f) 24 = 24

1 g) 0.94 = 47
50 h) 5.5 = 11

2 = 51
2

i) 80 = 80
1 j) 7.6 = 38

5 = 73
5

4)
Quick:
1213

Write as a fraction with a fraction bar.

a) 0.45 = 9
20 b) 0.576 = 72

125 c) 0.052 = 13
250 d) 0.273 = 273

1000

e) 0.977 = 977
1000 f) 0.386 = 193

500 g) 0.377 = 377
1000

h) 0.193 = 193
1000 i) 0.309 = 309

1000 j) 0.84 = 21
25

Good Luck!
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